38 =8 477 TEUH (¢4 2571 =)

Chel: ME, &, %, $/kg

29 ey 20124 3 (Hd) SUE(EE) 20124 3 (FHl) sa=(FA) TECIHFA)
= S&t = ST = ST = =2 | 20114 | 20124
A 1,339,624 231,144} -6.6 -6.8 3,654,177 657,754 -0.5| -0.2 5.57 5.56
1 |5= 228,293 28,894 -8.0 -8.4 598,069 81,167 -45| -5.0 7.33 7.37
2 |HEY 180,371 27,710 -0.6 -2.1 446,768 70,592 3.3 3.1 6.31 6.33
3 |2zl Alo} 127,621 16,057 6.7 10.9 352,831 44,908 7.7 10.5 8.06 7.86
4 |o|= 115,353 21,769 -1.1 2.6 334,679 62,581 10.7 14.9 5.55 5.35
5 (€& 75,137 8,467 -8.7| -14.1 214,485 25,507 -0.5| -7.7 7.80 8.41
6 |22 59,163 5,856] —29.4| -21.8 145,525 14145 | -23.7 | -24.6 10.17 10.29
7 |AFClot2tH| o} 32,013 4,3271 31.9 30.7 85,846 11,822 33.3| 275 6.95 7.26
8 |otEtdlo|z|E At 31,946 4,278] -31.8| -33.8 93,926 12,620 | -23.4| -29.4 6.92 7.50
9 |Ez|H 24,069 4,666 4.8 5.1 65,908 12,649 2.7 4.2 5.29 5.21
10 |ZEC|o} 23,966 6,784 7.0 7.8 66,353 19,174 12.5 13.5 3.49 3.46
11 |Ef= 21,995 4,636] 20.6 21.6 64,571 15,013 33.6 41.9 4.57 4.30
12 |54 21,250 5,322 —22.3| -17.4 65,469 16,978 4.6 11.7 4.12 3.86
13 |E7| 18,898 4,008 271 | -11.2 56,827 12,978 | -17.4 1.3 5.37 4.38
14 |Z2A 18,391 2,402 35.2 37.8 44,757 6,288 23.5 40.3 8.08 7.12
IFREECE R 18,265 2,054] -85| -353 44,810 6,191 | -11.8| -28.5 5.87 7.24
16 |2 Alof out 18,195 3,470 10.3 -6.2 47,917 9,716 -6.6 | -27.7 3.82 4.93
17 |22t~ 18,027 4,390 26.9 18.0 45,572 10,997 55| -0.8 3.90 4.14
18 |O|Etz|o} 17,820 3,885 -20.7 | -28.6 49,388 11,310 | -11.0| -16.9 4.08 4.37
19 |elC|o(elE) 16,323 4,238 0.4 -8.9 41,467 11,130 2.4 -5.2 3.45 3.73
20 (9= 15,283 3,670 7.7 -14.1 41,790 10,491 18.9 7.4 3.60 3.98
21 |cHet 13,829 2,858 -6.0| -13.1 37,438 7,913 -79| -85 4.70 4.73
22 |HAl= 13,236 2,361 —-12.7| -21.0 32,404 6,413 -9.1| -18.5 4.53 5.05
23 |22 o|Xx|o} 12,447 4,538] -0.7 -5.6 29,339 11,914 -3.2 2.1 2.60 2.46
24 |mF|AEH 10,179 4,917 -13.8 -7.1 27,001 13,255 | -10.0| -1.5 2.23 2.04
25 |Am el 9,458 2,394 -245| -32.5 29,163 7,769 -3.3| -9.6 3.51 3.75




38 =8 diF TN (¢l 2571=)

el ME, &, %, $/kg
=

2o e 20124 3 (Ed) SUE(EE) 20124 3 (FH) SU=(FA) TAETHEFA)
- = = S&t = ST = ST = =2 20114 | 20124
= 1,013,426 129,104 | -10.0| -14.7 2,849,261 352,495 -2.4| -10.3 7.43 8.08
1 |5= 492,180 63,744 | -14.8| -19.6 1,357,144 165,101 -6.3| -11.6 7.75 8.22
2 |HEY 141,838 18,034 5.3 -9.4 386,268 48,807 11.6 -7.9 6.53 7.91
3 |9l=H Aot 57,349 8,540 | -19.2| -34.8 159,759 26,427 -9.2| -25.2 4.98 6.05
4 |o|Etz|of 38,409 696 -4.3 73.8 125,420 1,843 12.1 81.2 109.95 68.04
5 |elc|oHelx) 32,681 7,150 54.0 | 110.7 83,808 18,033 | —27.4| -14.3 5.49 4.65
6 |¢& 32,434 6,389 | -21.3 -1.8 99,555 19,977 -9.3 3.7 5.70 4.98
7 |ol= 29,002 2,313 | -16.1| -35.9 96,116 8,355 45| -13.9 9.48 11.50
8 |ZA 25,625 136 -6.6 | -22.9 68,361 433 0.4 111 174.76 | 157.87
9 |(o]Qkat 18,901 940 17.2 -6.3 61,162 2,720 47.7 0.6 15.31 22.49
10 |m7|AEL 17,240 4,529 | -29.7 -4 1 45,413 11,781 | -32.8| -13.7 4.95 3.85
11 [Ei= 15,717 2,707 1.5 8.3 43,487 7,540 16.0 23.7 6.15 5.77
12 |oiet 12,111 2,793 | -23.5| -13.9 31,613 7,004 | —22.3| -17.6 4.79 4.51
13 |Zreo|X|o} 10,503 3,374 | -25.8| -25.5 33,070 11,418 | -13.7| -12.8 2.93 2.90
IENEEEE RS 7,811 672 22.7 31.4 18,212 1,540 53.3 18.7 9.15 11.82
15 |@AEz2|o} 7,074 1,904 -6.4 -8.6 24,413 6,316 31.5 19.2 3.50 3.86
16 |Z-EC|o} 6,817 297 71.1 73.2 19,130 862 | 148.5| 177.5 24.77 22.18
17 |=¢€ 6,541 523 | -31.9| -42.6 20,137 1,847 -7.8 2.0 12.05 10.90
18 (Zz|H 5,952 498 15.2 19.0 17,523 1,289 441 30.8 12.34 13.60
19 |d= 5,913 633 -4.7 | -13.1 16,714 1,889 18.0 14.7 8.60 8.85
20 |E7| 5,850 89 42| -48.4 16,095 275 0.9| -39.2 35.25 58.49
21 |AE| &7} 4,014 377 52.6 -4.0 10,407 959 51.9 -6.4 6.69 10.85
22 |Am el 3,805 172 | -30.0| -41.3 9,765 514 | -32.2| -47.2 14.79 19.00
23 |AflA 2,826 42 35.2 52.5 8,221 128 22.3 54.4 80.82 64.02
24 |F0f4ot 2,539 16 14.3| -39.9 7,574 77 65.0 -8.4 54.45 98.15
25 |ZREZL 2,504 49 -2.2 33.6 7,652 129 7.5 -6.7 51.36 59.21




